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PHILOSOPHY
( Honours Core )
Paper : PHI-HC-1016
( Indian Philosophy—I )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
RCtIRER @ere e Teq fram @
(a) Which part of the Vedas is known as
‘Vedanta’?

S I S ‘@S’ IR o IR 2
(b) What is the meaning of the word ‘Jina’?

&1 *R7co sy 39

(c) Write one materialist school of Indian
Philosophy.

ORI T GO TRy G AN o |
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(2) “ ( 3)

(d) What is the meaning of Rta? 2. Give short answers to the following questions :

' ; 2%5=10
2req o fF 7 i et
(e) Name the author of Brahma Sitra. : (a) What is the literal meaning of the Bhagavad
‘T (IR o Gita? :
‘SaRmATel’ Y e Wi 2

(f) What is the meaning of ‘Buddha’?

g e el T2 (b) Why did Carvaka not admit ‘Ether’ as the
: ” basic el t of th ?
(g) ‘Indian Philosophy is pessimistic by nature. asICEe em;;; o e,World :
| ( Write true or false ) DRI W‘fﬂw Wv T WaIeq I SAM fRo1eet
o T oS AR 17 5
(W= 1 oy o) (c) Why is Carvaka philosophy known as
‘Lokayata Darsana’?
(h) The concept of Seven Forms of Judgement is : g ¢ BT

associated with Jainism / Buddhism.

( Choose the correct answer ) (d) What is ‘Triratna’?

‘=g I @ ?
S W AR e /(A wre TR
Hiow | (e) What is Tripitaka?
( W% TeFeoT ik Sfered ) ‘fafone’ /52
(i) Did Carvaka accept verbdliestimony asia 3. Write short notes on the following (any four) :
valid source of knowledge? 5x4=20
qa1ef @ Beet il DRI X e Fier woe ATCIIE 5y et i (R et wif<o)
ffReTe ? ‘ o (a) Nature of Indian Philosophy
SROR A TR

(j) Write the name of one Upanisad.

G Tofferq A feT4 | | 24A/231 o
24A/231 ( Continued )



(4) (5)

b) V :
(b) Vedas (c) Write an explanatory note on Carvaka theory

(&4 ' of knowledge.
(c) Carvaka Ethics SR WESET T BT IMAETS (BT o |

BRI SR - (d) Explain Anekantavada of Jainas.

(d) Jaina Navatattva (ST HAPIEANE [99C T 41 |

= 909 _ (e) Explain the Four Noble Truths of Buddhism.
(e) Nirvana (M fer DR SR e R 0t SERCTRA |
e B (f) Critically analyze the No Soul theory of
, . Buddhism.
(f) Six systems of Indian Philosophy
@ T FRRTE [ STacEne R
SO ™Y TC W e
_ _ (¢) Elucidate Madhyamika theory of Stnya.
4. Answer the following questions (any four) : 10x4=40 e TR oI I |
were fir 2R e forn (R Gl wifi) -
(h) Explain Hinayana and Mahayana schools of
(a) Discuss the common characteristics of Indian Buddhism.
Philosophy.

% e FE AE TR AR [
SR e 2T ARBFTR SCeTol 9 | a1 SR |

(b) “‘Upanisads are regarded as the fountain head
of Indian Philosophy.”” Explain.

“Toferr 2'e SROR AR U T I I
3411 :

%* ¥ ¥k
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PHILOSOPHY
( Honours Core )
Paper : PHI-HC-1026
( Logic—I )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
CHFRIM @ere fracaies eq fi -

(a) “An argument in logic always involves
disagreement or controversy.’’ Is it true?

WWWWWWW@‘
e 1”7 FARE A6 2

(b) An argument consists of one/two/no fixed
number of premise or premises.
( Choose the correct answer )

51 IS <51/ / CICeTl TS SRR FICT |
( 7 e IR e )

24A[/232 ( Turn Over )



(c)

(d)

(e )tk

(1)

24A[/232

(2)

The conclusion of an inductive argument is
probable/ certain/both probable and certain.

( Choose the correct answer )

S e e oy /fAfve /e S

fve ToH 24T |
(o T MR Sfered )

‘Logically true’ and ‘valid’ are synonymous.
Is it true?

WW’W‘Z«’W@lﬁwm‘ 7

was the founder of syllogism.

( Fill in the blank )
SRR SeRE S |
(4 3R+ 7 )

The union of a set A with an empty set is
equivalent to the set A/the contradictory of
set A/an empty set.

( Choose the correct answer )

51 R 7iafeq e i2fe AT e, A Tefed
wgvﬁﬂ/AﬁQﬁﬁﬁﬁ%/ﬂﬁﬁ@mi%@l

( o Tecor qMfe Sferedr )

( Continued )

(g)

(h)

(i)

0)

(3)

Middle term is the subject of both premises in
the First/Second/Third figure.

( Choose the correct answer )
ECRTARSEVASE AR RATCOT !
SRS Soe o eI e A | _

(% Teco! MR Bferear )

Obversion is a kind of mediate inference. Is it
correct?
iR T I Bl ST | I 0T 2

Who is the author of the book, Prior Analytics?
Prior Analytics JEI TP (1 ?

Boole/Russell/John Venn is associated with
the modern square of opposition.

( Choose the correct answer )
wigfe R Reafer weRE e GO
R 2 9 /0 /T (S |

(% Teaeh AR Bferean )

2. Give brief answer for the following questions :
2x5=10

oo T e T i -

(a) Write two common characteristics  of

04A/232

deductive and inductive inference.

ﬁmwwmmmw@x
Srszoml (mes for |
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(4)

(b) Write the definition of set given by George
Cantor, the founder of set theory.
s T TERT WS T KOG TR
FRERICHT ol |

(c) Define conversion.

HARewq AgeEl &4 |

(d) Write any two valid moods of Second Figure
of Nyaya.
e Ao wEmd R @ o @y qf$] A
f2r |

(e) Draw a Venn diagram for I proposition.
1 I5 (S foaca SE 91 |

3. Answer any four of the following questions : 5x4=20

wo 2RPTEE A I BB Ted e -

(a) What is validity of an argument? Write a
short note on it.
e (agel 7 WR e G5 Ry GRA
EEl

~ (b) What is categorical proposition? Write the
types of categorical proposition.

feers o7 7 FRere R aerenz &
o | :

24A/232 ( Continued )

(c)

(d)

(e)

(f)

24A /232

(S)

Distinguish between argument and argument
form.

e S I ST e Al fol |

Write a short note on the rule of existential
import.

Existential import &= @ 9o1 o Bl
forar o

Write the special rules of the Fourth Figure of
Nyaya.
9 v FREFA Ko e o= |

Simplify the following sentences into logical

form : 1x5=5

S IRIAR SHRATTAS Je1ca] FAPLT A -

(i) Every citizen is a voter.
oife MR S |

(ii) Any man cannot be poet.
A I TR IR T GG |

(i) Almost all students are obedient.
2y ST WER T |

(iv) Writers are often hard workers.
(TRl 2R AR 1

(v) Virtuous alone are happy.
@ AR T |

( Turn Over )



(6)

4. Answer any four questions of the following :
sk 10x4=40

oo enpTRa T R BIReR T8 for

(a) What is deductive argument? How is it
different from inductive argument? 2+8=10

o S 52 R S SRS A
AT 7

(b) Are arguments claims? Explain the structure
of an argument with a suitable example. 2+8=10

e @R I FT ARG ? TS ORI
e Mo WL 0 |

(c) Explain the traditional square of opposition
with the help of a diagram. 10

fBqq F2EO ~FEo[ITe bd REAOR I5(0wa
=0T 40 1

(d) What is immediate inference? What are the
various kinds of immediate inference? Can
immediate inference be considered as an
inference? Give argument. 2+2+6=10

SR S 7 SN SR AR R
R 7 ST S SR 1 3 AR 2 I
H9ECeIET |

24A /232 ( Continued )

(7))

(e) Prove the validity of the following arguments
using the Venn diagrammatic technique :
5%x2=10

(e fBa e em s FakRe ez
Ryl fAefy 0

(i All humans are mammals.
No humans are cats.

No cats are mammals.
el TR 28 Tl 619 |

ICT TFR T (A |

@I (A T2 T & |

(ii) All cows are grass eaters.
Some wild animals are grass eaters.

Some wild animals are COws.
TR T W DT |

fRrgae T2 = e |
s TR I = A

(f) Explain the intersection of sets with the

proper diagrammatic presentation. L)
Ve Bad ToRPIeIE RIS @ {RATCO!
o7 40 i

( Turn Over )
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(8)

" (g) What is empty set? Explain the importance of

empty set in set theory. 2+8=10
e e B2 1S oge e A2 ol
I <47 |

(h) How does Aristotle define syﬂogism? Write
the rules of syllogism and the fallacies that
arise in violation of those rules. 2+8=10
GfREGC TR SARY RS [P HA9EIRCE ?

e e o Aeee ¢ e e
IR T @R TR @ 41|

% % K
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